'SECOND'TERM (AL -

MATHEVIATICS :
(Wit So!ur:ons) '

:_'_'Gener'll Instmct:on

" comprises of 10 gitestions of I mark each; Section B comprises of 8 ques siioits of 2 marks each;

Section’ C cwnpn ses 9 ! 0 quemom of 3 marks eac h and Section D coniprises of 6 questions of -
i mar&s‘ eac fi:



trainer
Rectangle


. 3.'“In f'gure. O 15 the centri. of 'a |rcie,AB:5:1chordand AT |bthetangentatri

Choice (¢} 1s correet.:

[using €

tothe circle mlh ccnlre 0 I AAI




‘?ZPAB + 60" ISO"_

are 4 cm and 3 cm respectnelw The dmme(er oi‘ the urcle haung
i t\m clrcics {in un) isii

‘Rembe the' mdtu'{ot the ruqmr;d circle, then:
“Ateaof a circle of radits R crit

ameter of ihe required circle

6.. A sphere' of d:ameter’lS'cm_ xs'drop
filled mt[l water. If th ! '

('I ‘%) %
\ccor{hng to lhc given question, we have




HLI!CC ‘the’ waler Icvei r:qcs in cwhndnml \mei {m cm) Ib) 3. :
ST “The nngle of elevation of the top of & tower from a pomt on the ground which is 30 m

a“aw from the foot oi‘ the tm\er lS 4 _ The he:ght of the to“er (m metr&s}

- Solution _ChGICL (b) is ‘correct
Let O be d pomt 30 m a\\ d)" from th. foot of the tower AB = h m




v given _th_a;‘z fhc___m_ld pomt of segmem AB is thc pomt P(O 4} thercforc

of an cvent 2

_ _ d Y Ju::l; =0
: 2_ ___F_:_nd “helhe -f.IS(i 15 a te:_'m _oi‘ lh(.




“."Solution. - Let O beé the centre ofmo conccnlr:c c1rcics 'nd AB bL a
chord of thc hr"er Sircle Iouch:nn the anm]ler circle at L.

Szncz, OL '{—~ 7 ¢m) is the radius or'thc smaller c1rclc, 'md-AB 18 ‘1
tangcnt {6 this LII'CIL ata pmn( L )




tand-

7 cm = 14 cm n,apccm e]) -
Pcrum.tur of thc qhadcd n,glm




16. Two cubes, each of s:de 4 cm are Jmncd end ta end. and the surfme area of thc resultmg
Lubmd - AR : e

L Queesti _
19, Fmd the mnts nf thc







= 16+ I S l'?
So. lhc m!dd!e tcrm :s 9zh terr
N fg . ﬂ + (9“ 1d

scginents BD and DC :nto “lm:h B_C is dmdul b‘ the pomt o!‘ contact D are Gi‘ lcngths 4 ém'and
"3 cm respectively. If are: = ' v AB

: '»‘) ET.méuua from B
(3 {T’mf’ultq: Irom Cl '




=& em dnd:

: _ CE+AE=(3+cm
Joiny OA; ‘OB and OC and dravr OF dnd OF pcrpcndtculars on AC and- AB rcspecu-. cly
ont fip msrc :

S)=65cnt n_spcuncly i
i, BC Gcmand.éABC— 0°.. Ther '




3 _.W’th B4 cenitre and radivs LC]U:li fo'6 crn draw 4 are jntérsecting BY at G
4. Join AC. Thcn ABC is the rcqmrcd man;__!c : S
. D_raw any ray AY making an acute anglt, w:lh AB on thc opposm md(, of lhc vertex €,

m.' ["gurc, of cnrde 0!‘ md:




_ Aren of séétbi‘ _Area of a rtght trmnglc
"_—_:_(96”5 G61‘3'5){:m o

90°

25, Two dice are rolled once, of getting such numbers on two dice
whdééf'{jrdtldét'-'is'"a"r:p'é'i'fét':t_-.'?;du"afé T T L




N Lct A be'the evenit of geltmg such numbers” on w.o dlcc W hnsu product isa pcrfcc_t square...
There '1"' 8 peifect: square numbers; mme!y e
A= {001 22Y(3.3) (4 4Y (5 5) (6,6 (1 4} (4 i)}
Numbcr Gfoutcomcs ﬁu.oumble'zo cvt,ntA'-' g

‘game consists of tossing: com 3 t:mes nnd notmg 1ts uutcom ]
gcts :hree heads i '

Hamf will 1os¢ the garnie if dll thc tossed do not give
86, favoumblc outcomce an.

: 26 : me"the top of a tower 100 m' h:gh, a man oh_se'
~tower mth angles of depression 30° and 45° i

¢ Cbc_l e position’ ofa mdn ob Grv
\Lars on thc opposm. s:dc of tln, towcr mlh .mg!m of dcprt.salon 30° d!'ld 45




; CAD 30 and 4CBD 43 T
= rm'mdDB—x tm -
n r:ght_tmmzlt. ADC \»c ha\c

Let P('%"-B)_ Q(G ¥ R{x ?) and S(S 6) be :hc \u’tu.cs of a flém Idkt.,l'l in’ ordc
- \flrd pomt of dmgonat PR \fhd poml ‘of diagoral QS

; find the'tlurd _er[e




._3)2+(o 0F=(x- 6)“+(y P

9+0 (\,—6} R

A gam cdnsu:lcr PQ PR lhc
| - PQY=PR?.

- 6 :3)2+(0 0)—'--_(1.-3)”;':0 0)

9+O (1—3)“'-!-)
(r 3) +_\, —9

* ﬁ‘f(t—S)%v}
s _(r_3)-_0

“Further, substituting ¥ = g- ini (1) we get -




- Hcre r; ~S »1 = 4 Xy 7 '\"'-';; k, 'i‘g"= 9: ¥ Q;"’_ e rL i

—[S(£+7)+7(~ ~ 494 - m-o G

'-'-'.-__-_-{sa+z0 4'>+zﬁ 91]«0__-_-._'_-' N

Jens —[-4,{ +4]

w4,14-4 0 R
k=1

Verlf'catmn Ar(_‘l 0{ APQR - ,,,[_ [5(1 + 1) + 7(_ . 4} +9(4M ”l R RS L S

- 29, A" motor hmt “hme speed is 20 meh :n'slnll \mter, akes l hour mnrc lo go 48 !\ni-'_' .
npstrtam than to refurn ‘downstream te the' sime spot. I' md the speed of the stream -
Solutlon. - Lt.i thc spc.t.d ot the struun bc, X Lm;‘h

48 )C 1‘ “{")O)-— T -
s 96.1__—-4(}(_)_-.1_j_'; L

c:nd'; returning back 4§ Z\m I



. L= Elther X+ IOOI 0 - or x-d= 0 L e

-:-_ Itis gwcn that . AR R
» " The sum of first 4 terms 01 an A P 4(} e S4 = 40

7 Rewriting (1) and @as.

L X406y -400=0. .. . ..
X + 100x —dx-400 = 0 L
1{a,+ 100} - 4(x+ 100) =0

(l+10{]}(\‘ 4=

Lo v

= Either 100 or x=4 - S _
- Since x is the spu.d of the stream, it cannot be negative. So, we u:norc the foot x == 100, e

" Thcrcforc x=4 gwcs the speed of the stream = 4 kmﬂl '

1. 1 .' 11
4 x- 7 30

Fmd thi. roots oi‘ lhe equatmn y X FE- 4, 7

_. Solutmn Wc hav
L e “

_ i xwa %=1 300 ST
'As 24,7 mu!t:plymg lhc cqu‘mon by (r+4)(1 TV we gu -

(\‘ ?) (t+4)*—{\+4)(r 7}

- - 11 ﬁt—é(r+ 4].{\ - 7)

“”u u

So lht, gwcn equation reduces o 3 1 - '%‘c + 2
Here, a“tbw—‘% c=2 '

0. which is a quadratic equation.
CUSe o Bodac=(- 2)“—4(1)(2)

. Thcreforc. X _3'*_3\/_1" = M €.,

So lhc rools. dl‘b EE .md 2. KRR

" and the sum of first 14 terms of an .-’\ P, =280 /. €. Sn 730

| '—[2a FE< )=

C2at3dy=40

= v 204+ 3d=20 -



.. "‘md _&“{7“ + (!4 - l}d} = 280

S ) 7[7a+ l?df "”SU
S 2a+ 13d =40,

. gub:mumﬂ (3} from (4), we uu L

('»‘rr+13d}—(”a+3d} 4{)~»’?0

=Y o IOd"‘"O

=2,
_uquutmsz d=2i m (3) we uc[
- e 2+ 6= "0
R 7(: 14

"Ihus th <;um'ofn zcrm» nt an A.P mS Ges

- Find the sum of the first 30 p(m ive mteg,ers (h_\ |h D

- %Iutwn.. The first 30" ]‘}Os:lz'.(., integers divisible by 6
i -'-;"6 12618051800

=6 d=12-6= 6‘131(“1_ 30

: Sum ofth:, first 30 pos:lm, mtcgcrs dms:b!t. hy 6 i§ S [, ie.,

o Sm = —-»«-Pa + (zo - l)d]

L Sm I*)[’7 x 6 ¥ ”9 x 6}

Sy = 15[124 T

S‘m— IS )C 1%6 o
S3p = 2790 -

--"Nme  Also, 5, w'3—~{6+180]-—l‘i{6+r601 :5»:186;”790 :

.-3_1 [ S,l = -(a + IJ]
1. Prme that the lmgths ol‘ tan;,ents drzmn l'rom an external point toa c:rc!e are ulual g
Solutmn. Gncn PQ dﬂd PR are two tdnocmq !rom an u:tt.ma! point P to a urc.]c
: 'Construclmn Jom ()P 00

Proof : ZOQP d!]{.[ ZLORP are right dnﬂlw bLC‘i{lSL IhCSL are dm_lu bf.tw{.cn thc mdn .md I'mg,c,ntﬁ

' [Tht. ('lm,t.m .1t any pomt of 1 urc.[c is p:.qu.nclu.uhr to thL radms Ihrmwh lh:. poml of conlat.t}




Now in right triangles OQP and ORP. we have

- 0Q =0R. o [Radii of the same circle]
ZOQP ZORP o0 L PCQand OR L PRE
OP=0P " ~ . S [Common}'_'-_

By RHS theorein of cons.ruenu,
L A0QP s z:\QRP S e
= PQ=PR - . [CPCT;' : .
e 320 In figure, arcs are drawn by tdkmg, \ermcq A Band C of equllateral mang!e ABC ofs:de
" 14 cm as ccnlrcs to intersect the sides BC, CA and AB at their respcchw. mid- pmnt D,y Eand ' F.'

. Find the ares of the shaded ri.gmn . o S [U“‘ T “-73“6 J— I 73]

: 'Thcrc.l‘on, lhc r.ldms 01 cqch su,{oro !

Lct A bL lhc, arca of ihruc sectors Ld(.h of .mgk: 60° and x radius of each scetor be 7 ¢riv, thz,n
A =3 % Area of om, qnclor of .ms_lc of 60° cmd llu. r.lcltuq of su.tor 57 cm i

;_3-.)([60 XKX(}') ] ;s
LT L360,




= [LT3 99— 77] em®
L (8477 - ??J LI]]

s -;m'?‘?'fcm LI S

G 33. From a solid cylinder v«hose hc:;,ht is 15em And th.m:ctcr iﬁ cm. a conac.zl cautv'_ !‘thc o

00 same hclg_,ht and mmc dlameter is hollo“cd out. Find the tofal surface area of the r(.m'unmg solid..

CTaker=3n) |

SE gniutmn \\ ha\«c o o e lﬁcm
: _ ‘Siam hctgh: of t}n_ cone is OC el '

oc J(OO) +{0’ cr A
!(15) +(3}“ cm :: :
' '_ ,/225+64 (,m L
' ”89 cm a
: : I? ent R
Tomi surﬁcc area of the n.mammg qohd o
ERRR IR —Cun'Ld surface area of liu, cylinder.: . .- Lo
I SO 4 Area ol‘lht_ base of lhc C\imdcr+ Cum.d qurmu,
ﬁg;’h‘f‘ﬁf’“‘"ur{ :
=20+ r+ i)
4% 8[’} X 15 £ 8+
KN E 8[30+ 84'17] ¢
31d % 8[55] (_m .
= ‘% 14 x 440 Lm

t50om s

4, Two poles oi‘ equal he:ghts are atandmg opposite to each other on either side of the road; .~

: wh:ch is 100 m wide. From a point between them on the road, the angles oi‘ elcvatmn ol‘ the top ol‘_" Lo

the poles dre l’{)" and 30°, respectively. Find the height of the poles. Co L

Lt Solulmn. Let AB and CD betwo po!eq of cc;ua! hc:g,ht h metres. Lu O bc a'point on the

that' ZADB = 60" and: .z_’COD 30° :
~ o Let OB =X m, thcn 0D = (IOO - 1) m. w her(, BD w:dlh ot' iht, rﬂdd

~n ru,ht AAOB we haw AL

— 100 m=
<—\. m-+4——--—-—-(]00~»\)_m'



V3 100-x

V3 = 100~

rmf“{‘)‘*“‘* @)weger

3 =100 ﬁ L

o 3= EOOJ_wh SR
= 1003

!xxzsf L

Ch=25% 1737 mo

S h=433m o

ence. thie height of cach’ polc is 43 3 m.

‘He

SEFII

"';:.Quemon numbms 1 to IO dre r)frme mark each: T
N ] an A P, :i‘a == 10 "= 6 and a, = l(} then the mlue oi‘d 1‘-; EEE
EEE (a) 0. . '
RCE
" Solution. c'h'o'm'a (b) is correct.. -
“Given:a = lO nﬂﬁ‘md a,= IO

10 Il‘ the penmcter :m(l thc drca of a c:rcle'are m:menmll\ equnl-,
’ Clrclel‘; ) BT oLl L -

(a} 2 units :'

(c) 4 units e

' 3;.' Solutmn Chmu: (u) is correct. .. . :

o It is given l[mt ihc pcrnmtcr and thc drctl 02 a ur{.IL are numer lL.l[[) cqlnl o

then the ndm_s__’of the

o '(b)' % u’m(s
(d') ? umh

L Q."“"-'f'??ﬁ'f'l'"f'a"fiﬁ'f‘f"ié ¢ 1 rry 2 marks em:h s P I
- 17. Find thc \Jluc of k so llmt the quadratlc equat:on Ax(Sx - 1{)} +-..5 =:{; has two equal -



%' Solutien.” The given quadratic equation is -

G k(Bx - 10) 425 =0 '

S 3k 1Ok +'>5-{)
. Here'a = 3k, b-—IOJL c= 25 .
Forequal roott.

D= b4ac—0 B AR |
S (- IOI»)-«4(3*()('35)~w SN BRI

E _'; : lO{M(L 3} S
_ " Either & = 0 or k= 3 '
chcc tht, value of k is 3 and reject k=0 TR AT :

18.A“coin is tossed two times, Fifid the pmbablht) of gcttmg riot more than one hend
" Solution. When a coin is tossed two times, the Iozal posslble outcomes arc four viz., :
{HH, HT,, TH and. TT} which are equally likely. . o : . D
. The outcomie favourable to the event £, “rremm: ot more than ¢ one ht_dd" ;m. {HT. TH. Ty oo
o So the number of outcomes favourable to event £ is 3. S
Prﬂbdblllly ot gt,ltmg not mnrc than one hLad .

u “U

' Que mon mm:bers I 9 ro 28 carry 3 marks each

260 XE P(2 4) is' equldlstant from Q(‘?r 0) and'R(x, '
dlstance PQ. :
17 Solution.” Herc P( 4) Q(? 0) and Rx. 9)are th gnen pomts R
{t is gwun that F(Z 4Yis cquulmnnt from lhc pmms Q(? 0} .md R(r. O, i T
PQ PR S '

. | PQ“ _ _

(7 2)~'+(0 4y :(r-°)~+ CE 4)~ }
i AW o= (1~2) +2S
('L‘ ”)“;!6
L ¥;~~+4_

k=224 g (jri

o L Eitherx =6

E -"'I'hu*: xh:, valtes of x arc60r- _ Lo

ﬁ Dls!'mcc PQ bctwccn the ) pomlf». P(”' 4)

I” nd th miues uf‘ x. Aiso: find the_

X

28 Dra“ a tnang[e ABC \nth snde BC 7 cm, AB 43 ami éA = 10:: Then construct a

tnangle whose s:des are ; t:mes the cormspondmg s:des ol' AABC



:- ' tmur fixed at the top of a 1(! m h:g.,h bu:idm{, are 30° ‘md 60° rcspectn L[\r. I*md lhc he:g.,ht oi' the';__

Solution. Steps of construction :
Draw a line segment BC = 7 em.
At B construct ZCBX = 45°,
At C construct ZBCY = 180° - (45% + I(h"} = '%0’ -
Suppose BX dnd CY intersect at A. Then, ABC is the Lwcn tmn“l -
Construct an acute dn“[L CBZ at B on opposite side of vertex A ot A/iBC

ot 4

s Lomtc 5 pomls [Ihn. greater ot and 5 in w) By, 81 {}1. 84 Bq &.unh lhat BB; B B‘) = B¢B~ =
] .

' 'B‘BN, = 343,,

? Jom B;C 1:1(1 (lr'lw i Em-., lhr(ms_h B;

thie 3rd point, 3 smaller of 3 and § ii
B CmnmrsnclmgBCatC S e B
. 8 me a lmc 1hrough C‘ ' arn!!cl 1o the liné CA to intersect BA at A" Then A'BCT is required -

Quesnwi numberf 79 m H (arn 4 marA\ each. R Cal T :
.- 32.. From'a point on the ground, the angles of elevation ofthe bnttom and top ofa transmlssmn :

to\\ er.. _
- Solution. Le.t BC b{, Ihc bml(!m" of hu"ht !0 metres aiid CD bé the tow er 0!
A b«. the po;nl on liu, Qrmmcl ata d:sl ance of.xm from the foot o! the bmtdmg --

1u"ht h mt:[l‘t_‘: LLI._.-




s ln AJ\BC we h'm.

D“

o Idﬂ ';{J.c - ﬁ_g .

il
B

'?hwmo mnnffjg
Otu

R

_:ﬂfﬂﬂmﬁ?Q = Tower ————3

bR Selution. - Clearly arcs are deawn with centres A; B, € and D intersect in pairs at mid pom'tt';'f" 0. R B
- and S of the sides AB BC, CD and DA n,sp{.r..lm,iv ofa squart, ABCD, where Iht, ]Lngh of t.,dCh ‘;ld{.‘, of
: 'i{]lldl'b 1: 14 cnv. . o SRS

Let A bL ihb m..l of four quadmms éach of ans_!c 90° and the radlu'; of each q de ¢
= 4 >< Arcd of om, qucsdr‘mt nf dl’]EIL ef 90° dl’!d thc radnm of quadmnt 19 7 cm.

.._‘_2 ',,

"*jjg;154¢mja



" - s Now, required area of shaded region _
S = Area of 2 squm, ABCD with side 14 cm - A :
= [(14)° - 154]cm '
. =[196 ~ 154](.m
_ ...-.._-~420m o ; :

34 A toy is in the shape o!’ a 5.ohd c)i;nder surmuunted by a conical top If thc herght and
dlameter of the cylindrical part are 21 cm and 40 c¢m respectively, and the height of cone is 15 cm, -_
then find the total surface area of the toy, - [r =3.14, be taken]
+.:-: Solution. Let r be the radius of a solid cyimdcr and & be its height. RS

:Thcn r= %Q = 20 cm and )‘1 = 2! et

o ;: Let r( 20 cm) and h, (— IS cm) be thc radlu'; and hc1gh( of IIn. conc and !1 bc 1(5 shnt hught
= Jh, +r .__J(15)~+(°0)— em ' AN
B !I 1/225 + 400 cm = J— 35 om =25 <,m
' _'_".'..Tolal surface area of the toy: L _

' = Curved ‘;urfacc area of thc C)hndcr :
- 'Arca of the base of the cy!mdc B
UE Clitved surface aré i
e "x 2nrrh + 'mr:1 £y 3
= 2 r ¥ L)
C=3.14 %202 % 21’ £20425]
=314 x 2(42'+20° + 25] cm?
e C=314 % 2% 87 em?
ERRRDET Y P 7 IOl
| =5463.6 em’

_m'” .

| *=———2] e 15 c_._*m__-«h_-;

.-nark each. . SR
= 15 d=._3 .;mia'-'—{} then'lhcvalue ofnis

e (b) 6. > L
Sy A

”"Quemon mtmbers‘ 1 m I 0 are of one
9. In an A P lfa

S - Choice (b) is :,o'rrér;t'._-._- Lo
"-“‘Gwcn a=is; rf~—3 and a, N SR R
= 0 a+(n- d = 0 IR SN
o= IS+ (= 1)(E3) s 0_:_
=534 3=0 0
=
=
=

18-3n=0 R
. 3.?::18 R



L R{A The radii of two circles are 8 em and 6 cm respectiv Ll) The diameter of the cm:le !mung S

: arc.l equ.ll m the sum of the areas of !he two’ urcles (m cm) is
(LJ ”0" e : (d) "’8
' _- . Solution. Choice {c) is (.orrf.ct R
S LetDbe the diameter of the rcqum.d cm!c thcn
s Aver Of‘t circle of diameter Dem .. : DLy
: .' "= Area of a circle ot' !"ldlu‘- 8 cm + Arca of a c:rch, 0{ mdlus 6 cm. SR
' [Accordmg o 1hc riven LOI‘IdlllOI‘I of thc quesllon}. S

COILCA com is tossed tﬁo times: Fmd the probab:l:ty of getting both heads or both tails.
Lo Soiutmm ‘When &' coin s tossed two tinios: the Iohl poqs:blb outcomes art. four. m ot
- (HHHTL TH dind- 'I'I”} which are equally h}.dy ' :
- The outconie favoutable to the event E “getting ho:h hmds or both ta:lq are : {HH TT .
So the number of outcomes favourable to event £ is 2. ' ERE L

Pmb‘lbll:ly of gcllmg both heads or bolh ta:ts .

L2 Fmd the mluc of m so that the quadrauc equatmn m.r(S.r 6 ) + 9 0 has two equal roots.
Sulutmn Thc given quctd;‘_mc cquauon 1‘: R S : .

-~ Here, a'= ﬁm. b = 6m.-
For L(]Udl POOLS 3
' D= b '
(— Gm)"'— 4(5m)(9)
L 36mE = 180nr =
' 36:}1(;:1—5} T

: I?i ={ (}I' m ,,_5 A L - A :
chcc Ih:. value of m is 5 and rclcc{ m = 0- SRR

U uU U




L P paral]e! lo P4Q mtcm.clmg the hnc PO at Q'

Quemon munbm S ! 9 m 28 r:arn 3 ma:,{f each Lo : : o
27. Drawa tndnglc PQR such that PQ S5em, LP= IZO” and PR 6 cm. Construct anothcr

trmngle whose sadcs are % tirmies tlu. correspondmg mies ol‘ APQR

Sn!utlan bteps of construction : _
. Draw w ling segment PQr=3 cm.e 0 oo nrins
2 20 AP construct JQPX = 120°.: S R L PR
~- 3. With P as centre and radius PR 6 em, dmw an are mlcrs:.cun}:, 1hc l1ne PX '11 R

. Join QR 10 obtain APQR . EEH e
. Draw dny oiher ray PY mdhmn an acu!e :mnlc with PQ on lhe opposltc ‘ildc to lhc \ertcx R

o Locmc 4 pomls (:hc grt,nu,r of 3 and 4 in %) P[‘ Pq Py .md P_; on PY 50 thaz PP; = P Pq = :
*mm—&& Con 'f' ' R S
‘Ir' Toin P4 [thc founh pomt bcmg !ht.. grmtcr of 3 and 4 in i) o @ 'md {Irm. .';1'_ line 'lﬁrbﬁgh E
- 8. Draw a line through @' parallel to OR: mzt.rs'cctmg PR at R'

Thuq PQ'R' is lhb I’LQUll‘Ld tnang]c -




-+ 112 28:: Find the point on y-axis which is equidistant from the points (~'5; = 2) and:(3,72). -
‘Sohation.--Since the required point: say P, is on lhe v-axis, therefore its ¢:b9c1ssa \!.111 bL Zero.
Let the Ol‘dmdtt of the point P be y, : U
. Coordinates of the given point Parc P(O x)
.. 7. Let the two given points be A(~ 5, - 2) and B3, ") T R A
' it is {,l\ en that th pomt P on the y-axis is cqmdlst‘mt from thc pomts A(« 5, - Z)and B(3,2).
: ‘AP =RBP . e . :

L AP“—BP"-'-'-"' 3
(0+‘§} +(,\ +2F ={0= 3; Frs
254V Hdv+d =940 —4\,+4

L Tonl qurf.icc area'of the remaining solid. TR
Cw e Clirved surface ared of the cyImdt.r" L

~+ Arca of the base of the ilinder™ 0

;+ Curved surf‘lcc area ot' thc conc L

Dk & -rr- wnel - -

w2 )

X620 464 10]em”

=O4: lOcm]

~ i3”.>< SLm*'".
o= 1056 et




30. - The length and bhreadth of a rectangular:piece of paper are 28 cm and 14 ém rcsptctmh. :
- A semi- clrcular pOrf.lOl'l is cut oﬂ' from the breadth’&; side and b sem:urcuiar portlon is: ddded on-

length’s snde, as shmm in f‘gure. Fmd the area of the shaded reg,lon. o

Solutlon. Wc !wv 4
"AD=28cmie, Icnglh of a re_cmnguhr pu.cc nf p'lpcr
DC =14 cm ie., breadth of a rectangular picce of p.;pcr S

Al = Ared of 2 rcctanglc or Iulgth AD"' "'-’“icm 'md brmzdzh DC = 14 cm..

- -("8x I—’f-)cm C

L --:--:_~308cm
- Now rnqmred area of the qhadud rcg:on"-__ SO
-—AIWAZ'I-;A-;
=392 -77+ 308} cm

= (700 - Ti’] cm -
= 623 em?






